éignature of Invigilators ' ' Roll No. “ J‘ “

y DRI COMMERCE (In figures as in Admit Card)
D reeoreevereemmraseesssssssssannns _ Paper II ROILNO. cevommesvveromereesrsessnseess
(In words)
D/03/17 h
Name of the Areas/Section (if any) .....c.coureeenrivieeerereen
Time Allowed : 75 Minutes] [Maximum Marks : 100

Instructions for the_ Candidates

Write your Roll Number in the space provided on the top of this page.

This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.
Each item has upto four‘altemat.ive responses marked (A), (B), (C) and (D). The answer should
be a capital letter for the selected option. The answer letter should entirely be contained within
the corresponding square.

Correct method A Wrong Method 1 or m
Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under

paper 11 only

Read instructions given inside carefully.

One sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the invigilator at the end of paper and should not carry
any paper with you outside the examination hall.

ylaudfatl 2l ya-usil :

1.
R.
a.

@ £ X

st el ARt sl wowmi ARl e o avil,

ML URAUAHL g6 WA (50) gdsRus Gual aiadi el dudar 8. o o wadl s2lrua 9.
N Uart a8 g A2 ogdsRYs GaL 4. F (4), B), (O A (D) a3 sulaant o §. wxsl Gu?
Yflza dan ad duvatll 28Q., Grarl Aa 2ude vl o1 wus wu d Ad avad 44,

wil Aa : [A]MA Aa : 3 7. %!

il MYl Fiol el ICR Answer Sheetrll Paper IT {Qottoi-ll v{bl uu‘ta wistinil 2l 234,
vie 2de Yarusi siaeyds aial.

2, szl won il Wi W8 s we 9.

wlanayy Y us o w2 9sde & A Blasd Wil e, S8 wn o vdaiell wsR @
gdl .







-t

COMMERCE
alawy
PAPER-1I
R yal-1] .

Note :— This paper contains fifty (50) multiple-choice questions, each carrying two

(2) marks. Attempt all the questions.
C ollQ - a0 Wl ga 40 dgRselly uadl B, elsit A A B, waL ¥ Al pus

2l ' (

1. Somebody picked-up the following headlines at random from newspapers in
India and matched them under the broad categories of factors of environment.
Which of the following matching is correct ?

- Headlines _ Factors of Environment
(A) “Non-resident Indians’ Investment Politicat
Incentives”
(B) “Mayawati resigned from the post Social
of Chief Minister”
(C) “PM will address 58th UN session Diplomatic
~ in New York” g
®) “IT solutions have encouraged BPO Economic
in India.”

ot admirt-wsint 2iys alaa A4 sl sl 34[ 2 ‘-I.'-l[q?.EMl ny
el WA A Asul e, d U 53 s wy & ?

ol s VOICEL TR ETTA
Q) s 209 BirlRa sudldii | epsla
S AWAR Mg |
(B) yuu vt a3 waadia A% s
g AW : '
(C) ~yuldui Wionda Yl ue ol | yudalll
o uelrl asal delad o '
®) cuaui olflxl (ol wAN - 2lds

2GRl | RA nUR

2s-iidion Gudiorll Wiy Gia

glal NicAlsd W4 B | .
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2. In the organisational structure of the WTO the highest authority is :
(A) Board of Directors
(B) Ministerial Conference
(C) General Council
D) TRIPS Council
Qs QiR S qtdaini Wl ag At wnag HsA S ¢
(A) Awas Hsu
(B) el uline
(C) ¥Ra G-fle
(D) TRIPS-s51G{le

3. Which of the following is not the fundamental right under Indian Consti-
~ tution ? -

(A) Right to equality

(B) Right to freedom of religion .

(C) Right to life and personal property

D) Right to move within and outside the country

cidly denami 1A seuda 5§ oueld 1«1«;@ ARLR L oA ?
(A) ¥l whs2

B) «wlls auduit xR

(©) @At YA Alod Mesd auaal whse

D) 2udi v Ba osIR gl Ul AR

4. The Securities and Exchange Board of India (SEBI) is a regulatory body for
keeping control on :

(A) Foreign Exchange (B) Capital Market .

() Inflation (D) Public Deposits _
‘Aol SRS A Asudy ol arila §edlau) A Rumnd] o 8 ¥ Qi
Y2 gy 929 B : |

(A [RRall gélqma | | B) 8l oz

(O gowdl (D) e wvel

.Commerce——II - : 4



5. Which of the following statements is not 'true ?
(A) Capital market refers to the market for long-term funds .
(B) Fiscal policy of the government operates through the budget -
(C) The Narasimham Committee recommended specially for foreign trade
reforms
(D) A Stock Exchange is a market where securities are bought and sold
A2 weuda Rl WA 53 Rt vig 8 ?
(A) %Sl oAz 3\ aion ouaurfl 48l idy v
B) sl AP AR oF2 @i AN YU
(© R2a cnmanl yart - gl AR uRE-AL Yasing yoa aw
O A2 w4 A A a3 wul wlaiig wdle-dum wa B
6. When a holding company has sold goods to its subsidiary company and goods
" remain unsold in the books of subsidiary company, then the profit on the
same is known as '

(A) Unrealised profit | (B) Net profit

(C) Operating profit (D) Capital profit

ornd was 540 ol SurdlAl e Aul gy A weR e Surlen Rue A
20 Mz WS 26 G dl A G suddl sm DA yore R

(A) dl sudd 8l (B) Avuil s
(©) sds?l 481 D) 38 81

7. The following is not added to net profit for calculating the amount of funds
from operations : | ' ‘ .
- (A) Loss on sale of furniture ' (B) Goodwill written off
(C) Profit on sale of machinery  # (D) Depreciation on machinery
sl Tid Wvd oigia dlaal W2 A s A gida 2H GI

“dl : :
A) sz Qumyg s | (B) i€l Rl waugAl 5%
(C) ¥ A 8l D) 42 Gu-l wRl

Commerce—II 5 P.T.O.



8.  Which of the following alternatives is correct with reference to the given set
of information ?

(i) profit or loss on memorandum (1) the owners of an entity
revaluation of asset is transferred (2) all existing partners
to capital accounts of (3) profit sharing ratio of all
(i) profit or loss on dissolution of a partners r
firm is transferred to capital -(4) capital reserve account

accounts as per
(Zii) the balance of forfeited shares
- account is transferred to
(iv) voluntary shut-down is planned

by
Alternati_ves : ‘
o (i) (i) @)
(&) 1) 2) @) @
® @ O @ o)
© 3 “) @) 2)
O @ ) ) )]
“oidl Rdivu sual sal [Rsey Yoy & ?

© Basdi Bases (1) Aeuw W@st gl Qay
Yri{euisnd 5138 Georda .
A5l A qsn

@) A Qusda a4l Gemda @) oy slleiziqi 38t wid 4 g
8l 3 g yel vid |
(i) ot 23d AR vl ouft (3)  miSl-rsulAl MM ool Al %
oualleiin 2wy
(i) Qunl oly saL wAAL - @ 38l vwia v @ rar
el
(Asey : .
) @i (it (iv)
(&) oy (3] (3 @
B (3] )] @ @
©) @) @  © (2
D @ (1 @ (3
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9. The recommendation made by the management accountant of a company in
making a make or buy decision is :
(A) Legally binding on the company
(B) Legally not binding on the company
(C) Not important at all to the Board of Directors
(D) None of the above
‘Auir 53¢ 3 widleq’ »id-i Rely adl QH& syl aauetﬁlq [Raorla 2ula udle-
ﬁSlfl_ K
Ay Su-ll 2 simzur A sadsdl asuy
(B) $i-l w2 smeuz Fd oladsal 4 sy
(C) dwas oS e Baga et + Ay
D) 6uAsa 45
10. Standard time for manufacturing 100 units. : 50 hours

Standard wage rate Rs. 15 per hour
Actual time taken for manufacturmg

100 units , 42 hours
Therefore, the effective wage rate per hour (appx.) would be :
(A) Rs. 16.43 (B) Rs. 14.63
(C) Rs. 17.86 ®) Rs. 14.36

100 AsHIAL Geulerl Wil NHRA AMY © YO sals
YR ddel £ ¢ . sy €18 31 1Y

100 AL Gedled M2 lAd AW MY ¥R s
2ell, §AISE dd e (A Yo sy ¢
(A) 3. 15.¥3 (B) 3t. 1¥.53
(C) 3. 19.¢$ D) 3. 1¥.35
11. When AR and MR curves are straight line sloping downward, total revenue
will be the highest when :
(4 MR >0 B) MR =0
(C) MR <0 | D) MR = AR |
FY AW a5 (AR) A fdid suas (MR) - ast Wl v 2438 DA ars
a0l did Ul g4 2was weud 4wl
(A) MR >0 (B) MR =0
(C) MR < 0 @) MR = AR
Commerce—I1 : 7 - P.T.O.



12. Accounting profit is different from economic profit because economic profit
takes into account : _
(A) Explicit cost (B) Marginal cost
(C) Opportunity cost ' (D)_Total fixed cost
(R0l 4s AN s A5 sl a0 B 513 ¥ 20fls st AAn VA S48 SPRNTES
AAani 4 & -
(A) W% usd B) qHid usd
(C) aAsRus usdz . (D 44 RaR usaz
13.  Which of the following explains the relatlonshlps between changes in all the
inputs and the output ?
(A) Laws of Variable Proportions
(B) Law of Diminishing Returns to Factors
(C) Laws of Returns to Scale
(D) None of the above
At A4 58S ouoid ar Awerst (Inputs) v Guy (output) QAL F51-1 Al
ANAA B ¢
(A) ulRad-sla siguad Ras
(B) wa-A @dldt dedl Hod-il Fan
(C) WA @ddl (scale) Geulgni=l A« Rtm
D) Gua-u A4 s R
14. Which one of the following situations will descrlbe a monopoly firm’s output
level to earn only normal profits ? :
(A) AR = MR = AC = MC (B) (AR = AC) > MR = MO)
(C) (AR = AC) < MR = MC) (D) None of these
QA U4 55 WRRuA $2e12 WL AlssA Gengnrdl saal Hist AU 48t W
53 9. dd qeld | 7
(A) AR = MR = AC = MC (B) (AR = AC) > (MR = MC)
(C) (AR = AC) < (MR = MC) D) 2t U4 siduz R
15. Statements :
(1) AFC curve slopes down throughout its length and eventually touches
X-axis.
(2) AC curve cuts MC curve at its minimum point.
Which one is correct ?

. (A) Both true (B) Both false
'g)) .{f‘lrst false and second true (D) First true and second false
al
Xe)) aa{.tg Raz widl as 2yelud A3 U el G B ¥A & 49
ELE)

@) wInw il as Wi vl asd A agun s B 8.
GURsd A A0 Y4 sl Gu acu & ? -
A) o Qa9 B) ¢~ Rl vial 6

(C) uad vig © »A o[ltzg A B D) Nau W A oy wWig B
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16. * For the purpose of analysis of data which of the following measures is used
to know the difference in the values of variables around which most of the
items cluster ?

(A) Measures of Dispersion (B) Measures of Central Tendency

(C) Measures of Skewness (D) Measures of Co-variability
Wl Rdne w2 02 19 56 el adi-n yeiql arRs yeu udl as 8 ?
(A) R W B) woadl R wd '
(©) Rmadru : (D)' asuRad--l v

17. Read the following sentences :

(1) The coefficient of correlation is independent of the change of origin and

change of scale. .
(2) The coefficient of correlation indicates the cause and effect relationship
between two variables.

Which of the following alternative is correct ?

(A) Both the sentences are correct

(B) Both the sentences are incorrect

(C) First is correct and second is incorrect

(D) First is incorrect and second is correct

A asal ail ¢ -

(1) Asolais A WU dut A w3l WdaA 8.

@) uedisiais A WReWl a2l size A U euladi e Yad B,

O3 culda @sedl YA sl Rsen wal & ?

@A) o= Rt ww ¥

B) =t Rl viel 8

(C) wan Rt Y B ¥ oflyg Rart Wig ©

D) uay QA Wig & 2 olly Amd Wy 8 _
18.  Which of the following sampling schemes falls into the category of probability

based sampling schemes 7 '

(A) Simple Random Sampling ~ (B) Quota Sampling

(C) Snowball Sampling D) Judgement Sampling -

dedtany 2uaiRd el Rl Achui DAL 1D 5§ wgR-l wda ay & ?
(A wsnew ag%s Fedd ®) sdiet Fed-

(€) ioua Reds D) R Rsdq
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18.

20.

21.

Which of the following requirements is not relevant for using chi-square test ?
(A) Original non-parametric data

(B) Total number of observations must be 50 or more '

{C) No repeated measurements on the same. umts of observation

(D) Parametric data

a-au wlam e QA 4 5§ w3ud Guysd ol ?

(A) ya 4 wdl anu dd Rdl

B) wud el dvm wo 3 ddfl ay %'ail Siy

(©) sagistl M5l w2 Yadidd v + aal AR

D) Wl usy dar siisSivt

Read the following sentences :

(1) The use of computer in data analysis is at a stage of data processing.
(2) Computer application for interpretation of data is not possible.

Which of the following alternatives is correct ?

(A) Both the sentences are correct

(B) Both the sentences are incorrect |

(C) First is correct and second is incorrect -
(D) First is incorrect and second is correct

QA atsut ail :

(D) Hissisly wlRdl yassanl syl Guzﬁu R wRdl xfzusexl As

dnsst 9.
@ wRd RAua w2 3‘1%3,3&& Guuial wsy vte[l
A1 U4 sui Asen wt & ?
(A) ¢l sl W B
(B) o disul Wia &
(C) Nnud sy WY 8 A ofly iy g &
D) Nud atsu vig O i ofly sy Wy O
Father of Scientific Management is : , .
(A) Peter Drucker (B) Charles Babbage

(C) Henry Fayol (D) Frederick W. Talyor
daus AW Mt :
A dler g5 B) wl suay

- (C) &4 duia : D ¥sRs suey. 243
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22,

23.

24.

25.

26.

For project execution which requires the services of skilied functional people
and the specialised knowledge of product specialists will call for an
organisational structure known as :

(A) Product structure : (B) Matrix structure

(C) Line and staff structure (D) Network structure

2slsa guadl auadl Alal ddl v a5l i wnad ARudke Alavid
Fui 3R 48 dal ul%saru nua 12 %3l qardaAt A sy
WYLY

C(A) MiSs2 WU (B) Adlsu @sAr

(C) A s Wi WHAR (D) n2af AR
Contingency theory of Leadership was advocated by :

(A) Lewin . ' (B) Fiedler

Q) Likert () Black and Monton
Agea A sedlvafl Rl (Gusis Rgid) u ¥Ad

(A) aAd4 B) glsaz

(C) dAdsé ‘ D) ©ds AS M2y

Authority relationship from superior to subordinate within an organisation

.is called :

(A) Division of labour principle (B) Network principle

(C) Span of control principle (D) Scalar principle

aRelldsn] B3] AT AN et 0 s 53d) 2l 9224 Aol sufadi av safadl
Al »ed :

A) sRou- Rgic (B) <easdi Rgia

(C) igu ulerrl Rgid O BVazr Rgid

Measuring performance against plans and expected results expressed in
numerical term is called :

(A) Feedforward control {B) . Direct control

(C) Project control )] Budgetary control

izt v ARG WRaiion dzeful sy Heuis v 3wl eulag ed :
(A) A el sl 0 addi viga B) Ny vigY

(C) Wiws2 »iga D) a%2 @ vigy

Marketing planning is concerned with :

(A) Planning the amount and the placement of newspaper advertlsements
(B) Planning consignment sales contract

(C) Planning salesforce size and deployment

O) Al of the above

o it QA il adely qud B

(A) ‘adust WAl stadl udAdiqu WU 2 @ aedloget

(B) 2UsdMd A9 $ald duiom

(O Awasni-l Aval 2R A Gyl dg suuien

D) GuAsd ww %

Commerce—I1 11 | P.T.O.



21.

28.

29.

30.

31.

MRP stands for :

(A) Management Resource Planning
(B) Marketing Research Planning

(C) Manufacturing Resource Planning
(D) Material Requirement Planning

MRP ~ 324 : |
A) Wz WL e ®) wilRa Nud wulHia
(C) A-ydsadlor R wulia O HAQxnR Asaurie wulia
Customer credit granting decisions should be incorporated into the :
(A) Inventory Control System (B) Accounts Receivables
- (C) Sales Order Entry System (D) Sales Analysis Sysfem
AresiA m wnal siolA Fefdl QA yeuda 5§ waui wal éqml E |
Q7
(A) Wa-aMn dign ua[a B) Rl aai
(© e s «iaell weld D) AwA yussn weld

.A person who has the responsibility for development of a new pmduct such

as mobile phone in a firm is called a :

(A) Brand Manager (B) Project Manager

(C) Development Manager D) Marketing Manager

Woudd iv ¥l Al Yeinetr RAsn WS F ARAA waeet] Alwar »u& s) an
A0 DA el viomari 2d 9 ¢

(A) QS AAwR (B) WiFs2 A%

(C) $Aaui-2z A% (D) MERa AAxz

The most structured marketing problems are likely to be those dealing with :
(A) Product (B) Promotion

-(C) Place (D) Price

WiRaen Al dg Havidd ukﬂ Qa1 W Asudg ) ¢

A) Awa | B) Gax-

(C) Aan D) BBua

If the initial outlay is Rs. 5,00,000 and the yearwise cash flows are

Rs. 1,00,000; Rs. 1,50,000, Rs. 2,00,000.and Rs. 1,00,000. The payback period
18 7 : ’

(A) 5 years ' (B) 4 years

©) 3 years and 4% months - (D) None of these '
2a3tidg 48l At 31 1,00,000 €ld A ARy WSS N s 3L '9,00,000,
3l. 1,140,000, 3. :aooooour‘tal 1,00,000 $ld, il uquam—[li\um
Ay, i |

Aa) u ad : _ ® ¥ ad

© 3 ad xg— B O il 88
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32.

33.

34.

35,

Cost of capital can be considered directly as one of the inputs in oomputatwn
of :

(A) NPV _ B) IRR

(C) ARR (D) None of these

A wudd A4 A0 AAA] 22 HEL uSARA ws A5l uRolainisL s neug R
ARY, : _

A) -t {ldl. . B) 8.2,

(C) A3, O Huidl S Al

Suppose the use of an inventory item is 2,000 units during a 100 day period,
ordering costs are Rs. 100 per order and carrying costs are Rs. 10 per unit
per 100 days. The EOQ will be : .

(A) 44.72 Units . - (B) 200 Units

(C) 63.24 Units (D) None of these o
100 [Radrtl uMY H2 As gl Sndwedl 2 ,000 Al & uA A-ll S vl
W, wig s 3t 100 9, A d-ll e st vl Bsn ds 31 10 wu B, 2wl
2fs adl o 2 ROl Sy :

(A) ¥¥.9 WMl (B w0 A5l

(C) $3.3% sMl | (D) el s

Dividend decision has no relevance with the value of the firm is opined by
(A) Modigliani-Miller {B) Gordon :

(C) Walter (D) None of these -

Wl 334 SRs-s -1 Rfa cleu W2 viioifd S Mal uPBIY 2 un
Yool

@) Hshdlu-Bar (B) A

(C) «ie2r | @) il 48

Sentence :

() Stock-in-process and prepaid expenses are current assets.

(i) Prepaid expenses and accumulated balance of profit are current assets.
Which of the following is correct ?

(A) Both the sentences are correct

(B) Both the sentences are incorrect

(C) First is correct and second is incorrect

(D) First is incorrect and second is correct

Q- :

() dd-dw ua uA sl Ysda wal wg Rasdl aux.

() wouGdl ysda wal dar s AsBia sl oudlsl ug hascu ARIA.
A mudanidl § wy @ ?

A) o1 Rausd A0 8

(B) oin [Qawil via &

(©) uuv QAn %ug S A oflg Rt W 8

M) 3ad Qad wig & u oy Rat wy 8
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36,

37.

38.

39.

40.

41.

The main focus of training is on :

(A) Management Development (B) Organisation Development
(C) Skill Development (D) All of these
aelln sl A wR A i B
(A) A [ (B) uaauda [asa
(C)  suadt s D) »u aul ¥
360 Degree device is a tool for : -
(A) Selection : (B) Reward
(C) Punishment ' (D) Performance Appraisal
350 viu el v[lilvuv{l WA AsmdAa B :
Ay waiesll (B) Hicled o
(©) [z ' . O sl yeuisn
Succession Planning refers to :
(A) Career Planning (B) Replacement Planning
(C) Safety Planning Recruitment Planning
GRS 2l Felu wed suaisn :R.aa : -
(A SBE sunla (B) yreuud sudigd
(C) uaidl snaiz @) dl vudion
Which of the following does not relate to recruitment ?
(A) Application Blank : (B) Advertisement
(C) Interview (D) None of these
43 oudda U4 53 Aty sdl WA Asnda el 7 -
(A) AHWYAS (B) adud
(€) alaad yaisd M) Auiell s dl
Which of the following can be termed as fringe benefit ?
(A) Salary (B) DA
(C) HRA ' (D) Bonus
1R geudd 5§ olodn yRsaet sél sy ?
(A) WU (B) '{itmil My,
(C) -GUSL M2y D) ol

Which of the following statements is not correct ?

(A) Every currency is money but every money is not- currency
(B) Every currency is money and every money is capital

(C) Every source of capital is Finance

(D) Every use of capital is Finance

A s Qatt 0 = ?

(A) e3s udR B Y B Yig eds g A Aaw 2

(B). eds yamt 2 g B A 835 g A 3ol B

(©) 384, £3s Wlid e vl s &

D) 4ol £35 Gudia A e 5 B
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42.

43.

44.

45.

46.

Which one is not included in the capital adequacy norms ?
(A) Unifrom Accounting Practices _

(B) Provisions against different types of bad assets

(C) Maintenance of Tier-I and Tier-II capital

{D) Maintaining adequate cash in Bank

48l waliaan i3l wuesui AR weudayidl Al e ydl Al ?
(A) wu Baell Fla

(B) sl amat clns yel-gel uste-l Masdl 203 qiou wdd sl
(C) ;-1 A w—3 Hie ¥3%] Yl Asausd

M) 33 Wi Ass- slsul Anas

For which one type of the following category of assets, banks normally provide
zero risk weightage ?

(A) Standard Assets (B) Doubtful Assets
(C) Loss Assets (D) Sub-standard Assets
g Aun-l Aaaus dsi AR wmuda s w5+ Rasdl e & ?
@A) ks Masdl (B) isysd Masal

(C) ™i2 aadl Masdi D) -t s Rasdl

Which one of the following is not covered under universal banking ?
(A) Deposit taking and lending

(B) Trading of Financial instruments and foreign exchange

(C) Capital Budgeting

(D) Investment Management and Insurance

AldeilBis/@Qaaandl silFopit 03 oudanidl A4l Wwudy 2dl Al ?

(A) YA A R '

(B) -uRisly warddl v @Azl $Bum@art e

©) yhazda

D) Wsta dwa wA il |
Which one of the following falls under the category of development bank ?

(A) RBI (B) UTI

(C) NABARD (D) None of these

‘Asm os’ Wi (A mnda -l wnde ad a ? T
A uz.ofl.2ugd. " B) 3.4.28.

(©) «uous @) w0l Asua dl

Which one of the following statements is true ?
(A) Balance of payment is balance of trade
) Balance of payment is an excess of imports over exports
(C) Balance of payment is a statement of exports and imports of visible as
well as invisible items -
(D) None of the above
A ooudd sy Qe we @ ?

T () duiarll gl A awwdl ga 8

(B) ameu-ll gat »2d il s vl qaRl |
(C) amzarll g A g 2 2g Al Rgiivn suud-Fsg wis 8
(D) Gusa sya il |
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47.

49,

50.

Which of the following is not included in the Singapore issues with regard

to WTO ? )
(A) Investment -

- (B) Competition policy

{(C) Transparency in government procurement

(D) -Agriculture

s R daseu dechii Riowyz 2l suedini rﬂﬂ.fuwﬂ siqll AN uctl el :
(A) UsA ' (B) sdund Ala

(©) s WAl wedsa D) wdl

The Cancun Ministerial Conference failed due to absence of consensus among
members :

(A) TRIPS (B) TRIMS

(C) FDI (D) Subsidies on Agriculture
uedinl adenlany wenadl }rLt'l vitdefl da(la wlRue Fsa af -

a) (B) = '

© AAsglus S D Wdl HieHl aoR(lSl

Which of the following statements is not true ?

© (A) Globalisation means integration of national economies

(B) Electronic commerce is creating a new trading order

(C) Controls on capital account transactions have promoted capital flows
(D) UNCTAD is a forum for discussion on trade related matters

3 weuda s34 R Wig 8 ?

A) Aadlsm Ned oget et il whls e yaan

B) SAsgiRs ot 2ed Adl USIRL ARG AFA

(€©) Y8 vy Aadldl w2 gt SIE 4Sl Rawe ya 9

D) s @l cietdi-fl aal we+l aqe Hed Glsas

Which of the following organisations is authorised for issuing the certificate
of origin for all products ?

(A) Central Silk Board '

(B) Coir Board

{C) Directorate General of Foreign Trade

(D) Development Commlssmner for Handicrafts

ol o usrll axgell w2 Gemqrat widg wuanst swvard w1 yida 3'8

QA Wide O ?

(A) wwra Res oS

B) ‘S8 s

(0 Ria auwu sisIsee ¥
D) &85z we-u Saaui-e s
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